
1) (3 x 72) + (10 x 27)

Answer: ____________

2) (10 x 17) + (3 x 49)

Answer: ____________

3) (3 x 10-8) - (7 x 77)

Answer: ____________

4) (2 x 44) + (4 x 35)

Answer: ____________

5) (7 x 88) + (4 x 23)

Answer: ____________

6) (5 x 79) + (7 x 7-9)

Answer: ____________

7) (8 x 1-1) - (7 x 1-7)

Answer: ____________

8) (10 x 66) - (4 x 33)

Answer: ____________

9) (2 x 2-1) + (9 x 68)

Answer: ____________

10) (9 x 15) - (7 x 24)

Answer: ____________

Total: ___ / 10
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Answers:

1) 1427 2) 786442 3) -5764801 4) 1484 5) 117440544 6) 201768035 7) 1

8) 466452 9) 15116545 10) -103
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